° |

9 | 10 | N |

THREAD LOCK COMPOUND
M10 BOLTS (ITEM 6,7,8,9)
7/16" UNC CONE NUTS (ITEM 13)
(USE MEDIUM STRENGTH
THREAD LOCK)

TORQUE SPECIFICATIONS
M10 BOLTS (ITEM 6,7,8,9) - 45Nm
7/16" UNC CONE NUTS (ITEM 13) - 70Nm

ITEM NO.| PART NUMBER DESCRIPTION QTY.
| MFC915G3 Bracket Engine Mount L/H Top G3-L/C 620mm Rails |
2 MFC9216G3 Chassis Post - LS V8 to Landcruiser RH 1 A
3 MFC1777L Base Plate Engine Mount Gen3 LH ]
4 MFC1777R Base Plate Engine Mount Gen3 RH |
5 MFC20380-1 Engine Mount Rubber - Heavy Duty Chev V8 2
6 SHCS-2060 SHCS - M10 x 1.5 x 50mm - Z/P 2
/ SHCS-2055 SHCS - M10 x 1.5 x 45mm - Z/P 4 |
8 SHCS-2045 SHCS - M10 x 1.5 x 30mm - Z/P 4
9 CSK-2025 CSK - M10 x 40mm - Z/P 2
10  |FW-2005 Flat Washer - M10x 21 x 1.1 -S/S 8
11 FW-6050 Flat Washer - 7/16" x 1-1/8" - §/S 4
12 |BT-6105 Bolt - 7/16" UNC x 4" - H/T - Z/P 2 |c
13 [7704043 7/16 UNC Cone Lock Nut 2

VSN

MABKSAWD oo o

A.B.N. 28 153 842 829

DRAWN GDK 08/07/2021 TITLE: Engine Mount Kit - LS V8 to

() L/C 55/70 Series
BE’EEV&'E% SAM 08/07/2021  |SCALE:1:2 _[PRAWING/PART NUMBER REV No.
FINISHED WEIGHT: 10.49 kg DR]A(X]YH'\IG MFK655G3B 0

9 | 10 | N |

A2




	Sheet2
	Drawing View1
	Drawing View2


